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ﬂ'&a:b:c:d:ﬁ:ﬁ:ﬁ:ﬁ,?ﬁ
(—32+b2+c2+d2)

PR B s FIAH TR ?

(a)

1

T Hfth 1 T T 30 GG e $ 3/4th
T A i ot @ % g 0w A 50%
aft w9 o | @ A9 F wRva ey
R R

(b) 2 (a) 20%
(© 3 b) 40%
d 6
(¢) 75%
ﬂﬂﬁlﬁﬁqﬁ2u,3u,4u3ﬂtxu%3ﬂ'{aﬂ% (d) 100%
T OEH 3 R W FA W R T
SEUL: xt, 4t, 3t 3R 2t B, FEl x, u, t AAAT .
. w8 . AR W Ay F s o AR %
TENE | xFI AR FT R ? .
#9 # AW 144° B, A TS F gensi
(a) 8 e fradt & 2
b 6
(a) 12
(c) 5
@ 2 (b) 16
(¢) 18
Qﬁ{ m:n=1:2 3N p:q=3:4,?ﬁ
(d 20

(2m + 4p) : (n + 3q) FeSF T 2 2
(a) 1:1
(b) 1:3
(e) 2:1
(dy 2:3

e = B W 5% R, @ T 10,000 (FAH) HF

T o @ 3ad & A e I wwafy
TS 3R qrumw =T & it fraar st B 2

(a)

¥ 17525

(b) ¥ 152-25

(e) ¥ 7625

(d) ¥ 2425
SRSU-T-EMT

R ok fEm wdem & q@ W dmea i
O R 2 3R - 100 B, A Freforaa & &
BT T R 2

(a) W whew sFae: Tga-d § s
=

b) T Fa ™ @ wihww 3 oS fF
x2+2x~100=0 % |

€ W Faw wH @ witewor @ oS f
x2-2x-100=0 8 |

(d) e IS G TE R
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SRSU-T-EMT

Ifa:b:c:d=+4:+43:42: ﬁ,thenwhat
(-a% +b? +¢? +d?) 0
(32—b2+c2—d2) l

is the value of

(a) 1
b 2
() 3
d 6

The speeds of four cars are 2u, 3u, 4u and xu
and the time taken by them to cover the same
distance is xt, 4t, 3t and 2t respectively, where
X, u, t are real numbers. What is the value of

x?
(a)
(b)
(c)

[ SR = L R = - R # <]

(d)

If m:n=1:2 and p:q=3:4, then what is
(2m + 4p): (n + 3q) equal to ?

(@ 1:1
(b) 1:3
(0 2:1
d 2:3

If the rate of interest is 5%, then what would
be the difference between compound interest
and simple interest received on ¥ 10,000

(each) after 3 years from now ?

(a) T 17525
(by ¥ 152:25
(¢) T 7625
(d T 2425

5.

(3-A)

A person bought a book at 3/4' of its listed
price and sold it at 50% more than its listed
price. What is the percentage of gain in the

transaction ?

(a) 20%
(by 40%
() T75%
(d) 100%

If the difference between the interior and
exterior angles of a regular polygon is 144°,
then what is the number of sides of the

polygon ?

(a) 12
(b) 16
() 18
(d) 20

If the sum and product of the roots of a
2 and -100
respectively, then which one of the following is

quadratic equation are

correct ?

(a) There are infinitely many such

equations having different roots.

(b) There is only one such equation which is
x? +2x-100=0.

(¢) There is only one such equation which is
x? - 2% - 100 = 0.

(d) There is no such equation.
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8.

SRSU-T-EMT

A 2, TG px) = x® + 3xX - 6x - a W TH

% ¥, O R b o e & oant @
AThe T R 2

(a) 10
by 17
(e) 21

(d) 37

aﬁ t = cos 79°, @ cosec 79°(1 - cos 79°) fFa
el R

@ [t

+
[l

(b)

(c)

(d) —

10, AF Fﬁﬁﬂl p(x) = x* + a3x3 + 32::2 +a;x + a,

AR q(x)=x4+b3x3+b2x2+b1x+b03§qﬁ'g |
e a, B, v, 8, p(x) % I & 3N o, B, 1, 4, g

a__. fﬁ' p(x) — g(x)
7 %, (Xx-a)(x-P)(x-7v)
TR 3 7

(a) -A+8
(by A-5
) A+8

d -A2-3

11.

12b

13&

14.

(4-A)

7} w4 0 F fore 7l 0 <0 < %,H‘ﬁiﬂﬂl
xcosB=x2+p$IETHﬁ$'ﬁl%,Fﬁ
frffga & @ Smadt 2 2

(a) p=1/8

(b) p<1/8

() p21/8

(d) psl/4

cos? 6 + 3 sin 0 + 2 o fiwaw WA 3 =AW
WH & o H AR AR ?

(a) 4

ABC T @wahiv Iy 8, 9 B W awaiw 3,
TR ff AB=6cm 3 BC=8cemd |
e ABC ¥ iwfa satftreraw dmwa e
1 qRmTy 4§ 2

(a) 24/7cm
(b) 96/7cm
() 24cm
(d) 32cm

k %1 fterem 7w w1 R fres R
2x% —4x + k=0 & Y& qrqfas & ?
(a) 1
(b) 2
() 3
d) 4
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8. If2is a zero of the polynomial 11.
p(x) = x3 + 3x% - 6x — a, then what is the sum
of the squares of the other zeros of the
polynomial ?
(a) 10
(b) 17
() 21
(d) 37
12.
9. If t=cos 79° then what is
cosec 79° (1 - cos 79°) equal to ?
1+t
(a) -
b
J1-t?
J1-t2 13.
(c) :
1-t
d -
@ 1+t
10. Suppose p(x) = x* + a3x3 + a2x2 +a;x + a5 and
qx) = x* + b3x3 + b2x2 + b;x + b, are the
polynomials. If o, B, y, 8 are zeros of p(x) and
o, B, v, A are zeros of q(x), then what is
p(x) - g(x) equal to ? 14.
(x-a)(x-P(x-7v)
(a) -X+38
(b) A-98
() A+96
(d -x-38
SRSU-T-EMT (5-A)

If the equation x cos 0 = x° + p has a real
solution for every 6 where 0 < 8 < E, then

which one of the following is correct ?

(a) p=1/8
(b) p<1/8
() pz21/8
d p<l/4
What is- the difference between the

greatest value and the least wvalue of
cos?0 + 3sin20+2?

(a) 4
(b) 3
() 2
d 1

ABC is a right-angled triangle, right-angled at
B such that AB = 6 cm and BC = 8 cm, What is
the perimeter of the square inscribed in the
triangle ABC with maximum area ?

(a) 24/Tem

(b) 96/7cm
(¢} 24cm
(d) 32cm

What is the greatest value of k for which
2x% - 4x + k = 0 has real roots ?

(a) 1

(b)
(c)
(d)

W e

https://www.pygonline.com



15,

16'

17.

SRSU-T-EMT

Frafafigs 2o w fomm Hifse .
110, 41, 43, 95, 127, 99, 61, 92, 71, 93, 110, 36.

afe 93 94 ¥ 5T fean s R, o Fnafrfia
Fy W fmm Fifvo

1. 7% wfer ot @t wfers & e =
HM 1R |

2. U ATe 3R QR W F " H AR 01
AH0R |

3. U ¥gerh 3R [WH Fges & dE F AW
TR

I FYEl # A BH-Y G § 2
(a) hadt 1 3R 2

(b) Faw 23k 3

(c) wad 133

d 1,233

TG (2250 F 1007 W | BT 37 2 2
(a) 6

(b) 5

M a, b, ¢, d TP TN ¥, q W
12 + 28 + 3¢ 4 44 ) 10 @ oo fora wg, @
foram wwifaq fawer & wwd & 2

(a) 3

(b) 4

(c) 5

(d) 6

18.

19.

20.

(6-A)

I n UF gAg T B, @ o % faftm AEl &
fau, 4® + 67 4 97 4 117 F) 10 & fawfm =
R 9 qoft i Suset F1 A F R 2

(a) 3
(b) 4
(c) 6
d) 7

9 TEAT (12345678910111213 ... 99100) FI 16
% fowfom forn sme, &) Svwa =1 B 2

fa) 15

(b) 12

A, B, C, D U% %™ H HIW: 3, 6, 9, 12 U2l §
M W GHd § | T A, & & 97 w
T® I hadl UF @ Afh HH G 2
IR = ft =ufs oA & R W = W
a1 | I8 A& T8 g b wft A wm W
TR Y | FW B W A F I I aw
foraq B2 & 2

(a) 36/25
(b)y 12/5
) 4
d) 2
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15.

16.

17.

Consider the following data :

110, 41, 43, 95, 127, 99, 61, 92, 71, 93, 110, 36.
If 93 is replaced by 94, then consider the
following statements :

1.  The difference between new median and
old median is 1.

2. The difference between new mean and
old mean is less than 0-1.

3. The difference between new mode and
old mode is zero.

Which of the statements given above are
correct ?

(a) 1and2only
(b) 2and3only
(¢) 1and3only
(d) 1,2and3

What is the digit at the 100*® place of number
(2254 2

(a) 6
(b) &
() 4
(d 2

If a, b, ¢, d are natural numbers, then how
many possible remainders are there when
12 + 25 + 3¢ + 49 is divided by 10 ?

(a) 3
by 4
e 5
d) 6
SRSU-T-EMT

18. .

19.

20.

(7-A)

If n is a natural number, then what is the sum
of all distinct remainders of 4 + 6" + 9" + 117

when divided by 10 for various values of n ?

(a) 3
(b) 4
(¢ 6
d 7
When the number

(12345678910111213 ... 99100) is divided by
16, what will be the remainder ?

(@ 15
(b) 12
© 4
d 3

A, B, C, D can complete a work in 3, 6, 9,
12 hours respectively. Further, only one
person can work at a time in each hour and
nobody can work for two consecutive hours. It
is not necessary to engage all. What is the
minimum number of hours that they will take
to finish the work ?

(a) 36/25
(b)y 12/5
() 4

(d 2
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21. IR p = %‘(a+m)+#[a*m)’ 25. ‘sﬂmﬂmm@fm n dA-H g f6

M+ Dxnxm-Dxm-2)x...3x2x1,

@ p3 + 3bp Frud sUM R 2 010 WreT B 2
(&) -2a (a) 91
(b) a (b) 90
() 2a (c) 13
(d 3a d 12

22. 425 mdd AR 34 m =S T TFN F TR H

. 71 555 frafeifga o & fraw
wm%mgﬁﬁmmilﬁ SRR 05T T

afs fodh o o & o A R AL
A 7§ A E AR o F e amew| & 2
TH FR W T A 2.3
3. 37
(@) 46 fa RE Mo g w1 @M W wd g
(b) 90 (a) aet 13 2
(c) 400 (b) Faet 2 3T 3
d) 500 () hae 133
@ 1,233

23. x* - 13x%? - 300y?, x® - 4x%y - 4xy? - 5y3

x3 - 125y FT HCF R & ?
27, Tafafas st w famm Hifse .

(a) x-b5y
. 1. 3R 3m® + 2m? + 5m + n)/m T ik
k) x+8y 2, T m Mo E, @ on,md
(¢) x2+5xy + 25y2 T TR |
@ 1 2. 58™ + 2% msft g weme m % forg,
24. IR @It wemali x 2 2,y 2 2% for, 768 3 487w R |
xSy2 1 HCFBExy%,?ﬁ(x+y]$TmW%? E ﬁﬁﬂaﬂq-m/aﬂ?-ﬂuﬂ%/%?
(@) 5 (a) *ad 1
(b) 7 (b) a2
© 9 (c) 13K 2a=ﬁ
@ 11 (d) Tar LT 2
SRSU-T-EMT (8-A)
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21, If p= ﬁ(a+\{mj+?j[a—\ﬂa2 +b3] ,
then what is p® + 3bp equal to ?
(a) —-2a
(b) a
() 2a
(d 3a

22. A plank of wood 4-25 m long and 3-4 m wide is
to be cut into square pieces of equal size. How
many square pieces of largest size can be cut
from the plank, if no wastage is allowed ?
(a) 45
(b) 90
(c) 400
(d) 500

23. What is the HCF of x* - 13x%?% - 300y%,
x3 — 4x%y — 4xy® - 5y7 and x3 - 125y3 ?
(a) x-b5y
(b) x+5y
(¢) x%+5xy+ 25y%
d 1

24. If HCF of 768 and x%® is 32xy for natural
numbers x 2 2, y 2 2, then what is the value of
(x+y)?
(a) b
b 7
) 9
d 11

SRSU-T-EMT

25.

286,

27.

(9-A)

What is the smallest natural number n such
thatin+ Dxnxn-1xnh-2)x..3x2x1
is divisible by 910 ?

(a) 91
(b) 90
() 13
d) 12

The expression 5557/ + 777555 is divisible by

which of the following ?
1. 2

2. 3

3. 37

Select the correct answer using the code given
below :

(a) 1and2only
(b) 2and 3 only
(¢) 1and3only

(d 1,2and3

Consider the following statements :

1. If 3m3 + 2m? + 5m + n)/m is not an
integer, where m and n are integers,

then n is not divisible by m.

2.  5(8™) + 29™ j5 divisible by 48 for all
whole numbers m.

Which of the statements given above is/are
correct 7

(a) 1lonly

(b) 2only

(c) Bothland2
(d) Neither 1 nor 2
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28.

29,

30.

SRSU-T-EMT

2 ST Eal B AR 402 | TR FA QA
FE 1 GM % AME 20% %0 8, AT A
e & 9 F AW R ?

(a) 12
(by 18
(c) 24

(d) 28

50 =3fth TF W H 40 i T [0 W A 2
q TF WY FW YE B § W IAF 10 T
Fafy F 9 5 AfRgl It A FW B
2 | %W F U ER # fean Twg @im 2

45 A
b s0fA
¢ 55
60 f&A

(a)

(d)

10
al fraforfaa & @ #R-m adt @ 2
0<x<05

x=056

(0 05<x<10

x>10

31.

32,

33.

(10-A)

% diaa ¥ foife st ot 1:4 % o A €
3N T I ey da § fafe et ue
4:1% sua § § | | Al F o
form sruma o firemn Sme f we Yen wEn fago
e B ford forfe S ot @ sTE 1:3 & 2

(a) 5:1
by 6:1
(c) 10:1

(d)y 11:1

afe 3sin@+5c0s0=5, M 5sin0—3cos B
HAH TR ?

(a) -3

b) -2

(c) 5

d 8

TEUE xik 4 xtke2 4 glked | y4ked ¥ weyf &
frefafgs w faar $ifow .

1. 9« 9g% B x? + 1 8 fawifm faran e
e YA B |

2. & 9gg H x* + 18 fonfoa form o
Tt e Y 2 |

It FeAl # ¥ FA-A /P2 wd /2 0

(@) +ad 1

(b) HId 2

© 1323t

() TALARL
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28. The sum of two positive numbers is 40. If the
GM of these two numbers is lower than their
AM by 20%, then what is the difference
between the two numbers ?
(a) 12
(b) 18
(e) 24
d 28
29. 50 men can complete a work in 40 days. They
begin the work together but a batch of 5 men
left after each period of 10 days. What is the
time to complete the work ?
(a) 45days
(b) 50 days
(¢c) 55days
(d) 60days
30. If x = 1 >
3
2+
5
7
6+
8 + 9
10
then which one of the following is correct 7
(a) 0<x<05
(b) x=056
() 0b65<x<10
d x>10
SRSU-T-EMT

31.

32.

33.

(11-A)

A bottle contains spirit and water in the ratio
1 : 4 and another identical bottle contains
spirit and water in the ratio 4 : 1. In what
ratio should the mixtures in the two bottles be
mixed to get a new mixture in which the ratio
of spirit to wateris 1:3 7

(a} 5:1
(b) 6:1
(¢ 10:1
d 11:1

If 3sin® +5cos B =25, then what is the value
of 58in6-3cosO ?

(a) -3
by -2
() b
d) 8

Consider the following in respect of the

polynomial x%K + x#k+2 4 gtk+d 4 y4ke6

1. The
polynomial is divided by x2+1.

remainder is 2zero when the

2. The zero when the

polynomial is divided by x* + 1.

remainder is

Which of the statements given above is/are
correct ?

(a) 1lonly
(b) 2only
(¢) Bothland2

(d) Neither 1 nor?2
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34.

35.

36.

37.

SRSU-T-EMT

. 2 ]
T %%Q, sin“ A+5simA+1

0<Ac< - - w1
2 sin A

AqH HH TR 7
(a) 3

(b) 5
e}y 7
(d) 9

8, 5
12 x 92 22 , 32 32, 42
TR 2 ?

(a) 1

by 4
e) 7
@ 9

_ 421
972’

af =

a+

b —

1
c+

d+!
e
@M axbxexdxe EFI‘-'I'H?WI'%?

720
(b) 480
() 360
(d) 60

s Y &, foge T 14 om @91 8, TS
ek W 7 em B0 1 wF g9 2, R fi@ @
8 fvm mn } | foe o b g g @ g

mw%?(n%?ﬁﬁm)

(@) 126 cm
(b) 189 % cm
(©) 252 cm
3159 cm

38.

39.

40.

(12-A)

7 em B 3R 0-16 mm Hrerd it ag i
FAER e ¥ U Bwe (FFR) F@1 T 2
e 150° &1 0 } | TR gHS H r B
T TH MAHR T7% ¥ Jell 71 R | r 1 AH
em¥ FTE?

@ 035

(b) 07

() 105

) 14
TS ga forew @5 0 3, 7! S AB w9 @Y
WHRHIAH 2B HR IR P S
fisuEs (§70) OABH #wai 8 M QT@ &
@mm%ﬁw%,ﬁgwaﬁﬁmw
27

(V3 =173 1 = 3-14 #fif)

(a)
(b)
(¢) 22
@ 26

14
1-7

& w54 g1 & A9 B 8 w1 dwee w2
R st g9 6 T B T e fig w
o w0 T A g B A e

Mmyu=$wm)

(a) 15491 cm

(b) 14491 cm
(¢) 13297 em

I 3 F Frw Puffe 7@ e
Hhdl

(d)
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M-‘

35.

36.

317.

SRSU-T-EMT

What is the minimum value of
sin’ A+.5sinA+1 for 0<A< X2
sin A 2
(a 3
b) 5
) 7
@ 9
: 3 5 7
What is T2 + 7 32 R + .
equal to ”
(a) 1
(b) 4
() 17
@ 9
- g
a+-—
b+ :—-1—
d+1
e

then what is the value of axbxexdxe?

(a) 720
(b) 480
(c) 360 40.
(d) 60
A cube whose edge is 14 cm long has on each
of its faces a circle of 7 ¢m radius painted
yellow. What is the total area of unpainted
surface ? (Take n = %g )
(a) 126 square cm
(b) 189 square cm
(¢) 252 square cm
(d) 315 square cm
(13-A)

38,

39,

From a circular metal plate of radius 7 cm and
thickness 0:-16 mm,
containing an angle 150°. The remaining piece

a sector is cut off

is moulded into a spherical bead of radius r.

What is the value of rin ¢m ?

(a) 035
b 07
() 105
(d 14

The chord AB of a circle with centre at O is
243 times the height of the minor segment. If

P is the area of the sector OAB and Q is the

area of the minor segment of the circle, then

what is the approximate value of % ?

(Take +3 =1-7and n = 3-14)

(a) 14
(by 1.7
(@ 22
(d) 26

What is the area of the region between two
concentric circles, if the length of a chord of
the outer circle touching the inner circle at a

particular point of its circumference is 14 cm ?
(Take 7 = 2 )
7
(a) 154 square cm
(b) 144 square cm
(¢) 132 squarecm
due to

(d) Cannot be determined

insufficient data
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4. T @M Bys ABC #, AB = 15 cm,
BC = 20 cm 3 AC = 25 cm & | 36% areman
BP, AC W @@ 2 | fnt paB 3l pPCB ¥
&Gl § 997 S & 7
(a) Ok ul cm
(b) 427 em
(¢) 4591 cm
(@ 48T ¢m

42. WH ST 1o T a,, ay, ag, ...., ag, GP
ﬁglﬂﬁl’,al,ag,aa, ..... animGM'gaﬂI
Q 8n41 Bnygs Bnygs e 3o BT GM B, A 3n
TEHA FT GM &1 2 2
(a) P2Q
(b) PQ?
© PQ
{d) P.U3Q21’3

43. y IRl F AP qEH, 2 G & fEa g
FTREIMWy:2=5:4 @ aw A
yferraar #n & 2
(a) 20%
(b) 25%
(¢) 30%
@) 40%

SRSU-T-EMT

44, UV SN W @ T 0GR 8 a9l i

46.

47,

(14-A)

fereht &1 eft R 3 20 AT F o B I
n 1 qF FT & ?

(a) 5

b) 6

(c)
(d 9

75

e x AR g0 (x + 1) R § e o wm
{x+5}wﬁﬁﬁm(x-2)ﬁﬁﬁﬁqmm%
TR, A xFI AR FTR 2

(a) 5

(b) 6

) 7

d 8

MW@sb:bro:cra=5:7:6a
(a-b+c):(a+b-c)R A FTE ?

(a 1:1

by 2:3

) 3:1

(d) 4:3

R e T 1000 F e W 10% N T I
A w9 & WK Bhalg s 3 @t & A
x 3 3R T 1000 H T T 119 A T =
Q3TN F g AR WA y R | xRy
sk oG

(a) T 16
(b)
(c)

(d)

T15
T5
T1
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41.

In a right-angled triangle ABC, AB = 15 cm,
BC = 20 em and AC = 25 cm. Further, BP 1s
the perpendicular on AC., What is the
difference in the area of triangles PAB and
PCB?

(a) 40 square cm
(b) 42 square cm
(¢) 45 square cm

(d) 48 square cm

Let the positive numbers a,, ay, ag, ..., ag, be
in GP. If P is the GM of a,, a,, a3, ..., 8, and Q
is the GM of aj,1, 85,2 8n43r - 23p then

what is the GM of 3n numbers ?

(a) P¥Q
by PQ?
© JPQ
(d) PUS QZ’S

The cost price of y articles is equal to selling
price of z articles. If y : z = 5 : 4, what is the

profit percentage ?

(a) 20%
(b) 26%
(© 30%
(dy 40%
SRSU-T-EMT

45.

46.

47.

(15-A)

A sum of money invested at simple interest
triples itself in 8 years and becomes n times in

20 years. What is the value of n?

(a) &
(b) 6
() 75
(d 9

If the work done by x men in (x + 1) days is
equal to the work done by (x + 5) men in
(x - 2) days, then what is the value of x ?

(a)
(b)
(c)
(d)

oo =3 & o

If(a+b):(b+c):(c+a)=5:7:86, then what
is the valueof (a-b+¢):(a+b-¢c)?

(@) 1:1
by 2:3
(¢} 3:1
(d) 4:3

Let x be the compound interest at the end of
3 years on a sum of ¥ 1000 at the rate of 10%
compounded annually and y be the simple
interest at the end of 3 years on a sum of
€ 1000 at the annual rate of 11%. What is the
difference between x and y ?

(a) T16
(b) T15
() T5
d 1
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48. TF 999 ABCD #, AB = 6 cm, BC = 18 cm,

49.

SRSU-T-EMT

CD = 6 cm 3R DA = 10 cm £ | 3R fiaod
BD =x, @l frafafea # @ d-mm ol 2 2

(a) B8<x<12
(b) 12<x<16
(e) 16<x<18

(d 18<x<20

R fis 9t o 39 ¥ wgain (Fé @)
r B I o iola q@ @M S} | R
r ¥ U 4R 2

(@) (V2 +1):1

) (V8 +D:1

© 3:2

d 5:4

50. T 9G¥ ABCD #, AB = BC 3t CD = DA:

AC 3 BD farel 39 w6 # % AC = 6 cm 3R

BD=12cm? | Sq89 &1 &% 71 8 7
(a) 247 cm
(b) 30Tt cm
(© 36at em

(d 4091 cm

51.

52,

53.

(16-A)

afe tan (3A) = cot (A - 22°), T&T 3A TF =
B, AT A TR ?

(a) 25°
(b)y 27°
(c) 28°
(dy 30°

sinf-cosf+1
sin@+cosB-1

Gﬁ0<9<%,ﬁ}f p+q ﬁiﬂ%w%?

(a 0
by 1
(¢ 2
d 4

6 m A ST T T IR F W F, 3 faigadt
AT BA N TR % SR & x m 3N
(x + 5) m I gt W § o 303 79 @ & T
@ W ford #, 3o A o g g F
x %1 I 1 8 2

(a) 4m
(b) 5m
(c) 6m
d 9m

Fafafa FuA w fer $ifvw
1. U e ABCH, afe

sin A+sinB+sinC =
HHETE B W 8 |
2. U Fya ABCH, 3R

cusA+cosB+cosC=§,?ﬁﬁ‘ﬂTr[G'qa1§
2
B ERa R |
IGE FH OF Y IH-A/FHA R T
2/8
(a) ad 1
(b) ohad 2
(c) 131’1(23’!'—1?
@ Ja 1,72

=psecO+qtan®,

343
=5 ™ B
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48, In a quadrilateral ABCD, AB = 6 cm,|51.
BC =18 ecm, CD = 6 ¢m and DA = 10 cm. If the
diagonal BD = x, then which one of the
following is correct ?

(a) 8<x<12

(h) 12<x<16 5.
() 16<x<18

(d) 18<x<?20

49, In a quarter circle of radius R, a circle of
radius r is inscribed. What is the ratio of R 53
tor? )
(@ (V2 +1):1
) (V3 +1:1
() 3:2
(d) 5:4

b4,

60. In a quadrilateral ABCD, AB = BC and
CD = DA; AC and BD are diagonals such that
AC = 6 cm and BD = 12 ¢cm. What is the area
of the quadrilateral ?

(a) 24 square cm
(b) 30 square cm
(¢) 86 square cm
(d) 40 squarecm
SRSU-T-EMT (17 -A)

If tan (8A) = cot (A - 22°), where 3A is an

acute angle, then what is the value of A ?

(a) 25°
(b) 27°
(c) 28°
(d 30°

If sTnG—co59+1 =psecO+qtan,
sinB+cos0-1

where 0 <8 < %,thenwhatis-p+q equal

to? -
(a) 0
(b) 1
) 2
d) 4

The angles of elevation of the top of a tower
from two points A and B at a distance of x m
and (x + 5) m from the base of the tower of
height 6 m and in the same straight line with
it are complementary. What is the value of x ?

(a) 4m
(b) 5m
(c) 6m
(d) 9m

Consider the following statements :
1. Inatriangle ABC, if

33

sin A +s8in B +sinC = 5 then the
triangle can be equilateral.
2.  Inatriangle ABC, if

cos A + cos B + cos C = —, then the

bo | &2

triangle can be equilateral.

Which of the statements given above is/are
correct ?

(a)
(b) 2only

(¢) Both1land2
(d) Neither 1 nor 2

1 only
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55. @ t@mfeai A 3k B fight @ #quee & fow @&
& fo7 § 7:00 a.m. 3 7:50 a.m. T @ XA F
3 SAATT: 80 kmph 3 100 kmph & 7t § |
e @ fem fradfter & @c 3 A1 ot
T Gy A St 2
(a) @km
(b) 100 km
(c) @km

3
1000
@ —= km

56. T TN HI wars, =er it = wEw 10%, 5
20% 3T 50% =S¢ I 8 | T F JFGH #
foram wfeera gfg @vft 2
(a) 100%

(b) 99%
(c) 98%
(d 50%

57. P,Q, R¥ T 9400 30 Y& ¢ 9ra & 6 afe
I wafta fegi 4 @ € 93, T 24, T 55 W | go.
Wt g, A FF MM s:4:5%
I # Tt @ | P firen R 2 2
(a) & 2307
(b) T 2376
(¢ T 2508
(d) T 2896

SRSU-T-EMT (18-A)

58. IR P2, R & WHMURI ? 3R Q2 R % GHIuw

2 PxQ @ e d A et € 2
1. P?2+Q%R% 919 9gudl § |

2. PQ,R% @Y ¥eoran 2 |

3. P’-Q%R% @Y oo @ |

R o mu e & A woad I ghe
ae 13 2

(b) “hadt 231 3

(¢ had 133

1,23 3

(a)

(d)

p §&H =t U FW H o fH @ =W
2 1 3l 50% fire =i &1, @ w12 T
QU & SN | g & AH 718 ?

(a) 48

(b) 40

() 36

(d) EiE 2 & s Puifa 78 s
Tl

2 2
ab> 0% R [a +za+l][b +§b+1]
1 AT TH TR ?
(a) 1
(b) 9
() 16

(d 25
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565.

57.

SRSU-T-EMT

Two trains A and B leave Delhi for Hyderabad
at 7:00 a.m. and 7:50 a.m. on the same day
at 80 kmph and 100 kmph
respectively. After how many kilometers from
Delhi will the two trains be together ?

and travel

(a) @km

(b)

(d —— km

The length, breadth and height of a cuboid are
increased by 10%, 20% and 50% respectively.
What is the percentage increase in volume of
the cuboid ?

(a) 100%
by 99%

(¢) 98%

(d) 50%

Z 9400 is distributed among P, @, R in such a
way that if T 93, T 24, T 55 are deducted

from their respective shares, then they have
money in the ratio 3 : 4 : 5. What is the share
of P?

(a) ¥ 2307
(by ¥ 2376
(c) T 2508

(d) T 2896

58.

59.

(19-A)

If P2 varies as R and Q® varies as R, (P # Q),

then which of the following are correct ?
1. P?2:+Q%variesasR.

2.  PQvariesasR.

3. P2_Q?variesasR.

Select the correct answer using the code given
below :

(a) 1andZ2only

(b) 2and 3only

(¢} 1and3only

(d 1,2and3

p number of men can finish a piece of work in
q days. If there are 50% more men, then the
work will be finished 12 days earlier. What is

the value of q 7
(a) 48
(b) 40
() 36
(d) due to

Cannot be determined

insufficient data

2
What is the minimum value of [233”’—11
a

[b_z__H;:Ll_] fora,b>07?
(a) 1
b 9
() 16
d) 25
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37 A T 7 (10) T & e Fofiea w
faer &

61.

62.

SRSU-T-EMT

Y% T H T T 2 e a9 e )
frefefa et 1 w@m w0 g v@s yww
1 IW ifeg -

fasrey

(a) o1 =F HIC IR I 1IN, Faw s
& %Y w1 A I = B I g
2, fg T % = Ivam = Al R
gHar g |

1 991 Hifom afe w1 =1 I, M A @
foreht vk o w1 ke s W= R W
gHEa e |

(c) W =957 hife 3 v w1 IW, A wuEt
® Th W9 I W e w1 v R,
frg 27t § @ Rl & wom #1
ITA & o 5w

w1 T I IR 391 1 IR, 1 Tt
H @ Y I w0t T@ o
AT |

AR AT a, b, ¢ 3R d gt £ |

3¥7:  a,b,c, dH ¥ BH-EI, TUEGA abed
T8 g e R 2

a>b>c

c'ﬂﬁ'ﬁiﬁaqﬁgl

(b)

HYL ;
PYLIT :

WFﬁﬁan=k,3ﬁm3ﬂInm#@ﬁ
# ot k7w He # |

¥  mn-n+1H TF R 2

HYT] ;
FYLI :

m>n

e A Y w22 |

qﬁpﬂ?‘{?’lﬁ%,?ﬁp“ﬂ'ﬂp+lﬁ
farfom = W Swwer g o

ndqg |

T -

HA] ;

FYLI: pTAR |

(20-A)

67.

64, F¥7: W xy YATHE B 7

HYL] ;

X= 3,[— 0-19683

FULI: y=Yx

65. WH T a, b 3N ¢, iy ABC ) yamd § |

yo7: o fae wweg R o

FYLL: a + b2+ ¢? = (ab + be + ca)

FYLIL : 3a® + 3b2 + 4c? = 2ab + 4bc + 4dea

aT$ x 3N SR y I ©F FA F GG P
? 3 x 3R y T A Gom gl T w

TAAIR 9gYS (N Fga: oA TE R) W
HIPA QR |

T ; M P>Q?

FUL -

Xx:y=2:1

Y11 : AT TGHT hI GF T ol &
ofta &1 +IT 60° R |

TF I, 99491 ABCD #i avfi St y=nait AB,
BC, CD, DA %! ¥q9f a1 & |

¥ Aq4H I 9Re R R 2

FULI: AB+DC=10cm

FHFII: AD+BC=10cm
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Consider the following for the next ten (10) items|64.
that follow :

Each item contains a Question followed by two

Statements. Answer each item using the

following instructions :

Choose option

(a) If the Question can be answered by one
of the Statements alone, but not by the
other. 65.

(b) If the Question can be answered by
either Statement alone.

(¢) If the Question can be answered by
using both the Statements together, but
cannot be answered by using either
Statement alone.

(d) If the Question cannot be answered even
by using both Statements together.

%.
61. Leta, b, c and d be positive integers.
Question ; Which one of a, b, ¢, d is closest
to the product abed ?

Statement-I: a>bh>c

Statement-II : ¢ is not the smallest.

62. Let mn = k, where m and n are prime
numbers and k is an even number.

Question : What is the wvalue of

mn-n+17?

Statement-I: m>n

67.

Statement-II : One of the numbers is 2.

63. Question : If p is a positive integer, then
what is the remainder when p”
is divided by p+17?

Statement-I: niseven.

Statement-II : pis even.

SRSU-T-EMT (21-A)

Question : Is xy positive ?

Statement-I: x= 3,}— 019683

Statement-Il : y= ¥x

Let a, b and c be the sides of a triangle ABC.

Question : Is the triangle equilateral ?

Statement-I: a%+b%+ ¢ =(ab + be + ca)

Statement-II : 3aZ + 3b% + 4c2 =2ab +4bc + 4ca

Area of a rectangle with length x and
breadth y is P and area of a parallelogram
(which is strictly not a rectangle) with
adjacent sides of length x and y is Q.

Question : IsP>Q?

Statement-I: x:y=2:1

Statement-II : The angle between the two

adjacent sides of the

parallelogram is 60°.

A circle touches all the four sides AB, BC, CD,

DA of a quadrilateral ABCD.

Question : What is the perimeter of the
quadrilateral ?

Statement-I: AB+DC =10 cm

Statement-II : AD + BC = 10 cm

https://www.pygonline.com



68. ¥7. T wiqda ¥ Rl f ca | 7 IA A 7 02) wEA F i Aok w

\ R #org -
ST T R 9
T{E?ﬁ?lﬂ'@ﬂ (7cmﬁmaﬁ),ﬁm@ﬁ%ﬁﬂ
B Wwﬂﬁwmwaﬁuﬁmmz;m?:a:l%r{n=§6ﬁﬁm)
F TR R | !

_ 71. AR P ¥Ed SR (FgaW) Bewwe w1 daee 3
FYTH: W WEGYS T fE W aren A Q o8 92 (Fevm) Breaws &1 dea 2,

foraot st s o 3 T R T P+ Q o s 2 2
(a) Ega"fl:m
3
77
by - &
69. T R% & g9 hi ey, r fiow % = wiA vy T
TR A E g adwd | o l%gaﬁcm
& e 24 THE 2 | 6
@ &€ 3 om
¥7: M RFAFFME? 9
72. AR T BR (Ag) BrowEs F vREm p 2,
TG 0 P R | at 9p 1 W T R 0
. (a) 142cm
FULI : RTH I 3 | b) 148 em
() 156cm
(d) 221cm

AP 31 At AT (03) FEH F Fre Al w
70. P, Q R, S AN TF AqHT ABCD # yeait firam B

AB, BC, CD, DA% Ferfag ¥ | 3 Yemfeat A 3l B RW P Ak QA T gw
H AT I Y F E | Y A, 7 pm. W
¥ : 949 ABCD & #h%w it =g 60 km/hr 1 Tfd & s IRY w R o T B
P (37t 1) 4 a.m. W 90 kevhr ) TR A TN SN
PQRS & &t H 72 i § F 8 | g R P ot Q F i A g 800 km

21

73. WA QW foherlt  w R Yermfat fisift o
(@) 104 km

FYZI: 94F PQRS F &% 50 T 378 (b 144 km
(¢) 156km

2 d 504 km

FYL: Q4T ABCD F1 &% 100 91 318
2

SRSU-T-EMT (22-A)
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68. Question : What is the ratio of the lengths
of diagonals of a rhombus ?

Statement-I: One diagonal of the rhombus is
equal to its side.

Statement-II : The longer diagonal of the
rhombus is equal to Jg times
its side.

69. The chord of a circle of radius R touches at a

point on the circumference of a concentric

circle of radius r. The length of the chord is

24 units.

Question : What are the values of r and
R?

Statement-I: ris an integer.

Statement-II : R is an integer.

Consider the following for the next two (02) items
that follow :

In a pie-diagram (with radius 7 em), the central
angles of the sectors are in the ratio2:3:7:5: 1.

{Takerc=2—72)

71. If P is the area of the smallest sector and Q is
the area of the largest sector, then what is
P+ Qequal to ?
88
(a) 3 square cm
(b) n square cm
3
149
{¢) —— squarecm
[
(d) 616 square ¢cm
9
72. If p is the perimeter of the smallest sector,
then what is the value of 9p ?
(a) 142em
(b) 148 cm
(¢) 156cm
(d 221cem

Consider the following for the next three (03) items
that follow :

70. P, Q, R, S are the mid-points of sides AB, BC, Two trains A and B s d from stations P and Q
CD, DA respectively of a quadrilateral ABCD. respectively towards each other. Train A started at
7 p.m. at a speed of 60 km/hr and train B started at
Question : What is the difference in the|4 a.m. (next day) at a speed of 90 km/hr. The
area of the quadrilateral |distance between the two stations P and Q is
ABCD and the area of the 800 k.
quadrilateral PQRS ? 78. How far from station Q will the two trains
meet ?
Statement-1: Ar f th adrilateral
ateme ea O e qu atera (@ 104 km
ABCD is 100 square unit.
(b) 144 km
Statement-II : Area of the quadrilateral (¢) 156 km
PQRS is 50 square unit. ) 504 km
SRSU-T-EMT (23-A)
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74. I ermfeat fem n g fiehf 2 76.

(d)

75. A I Wi A sk B # wEd Fuwm: @
400 m 3 500 m 2, A ¥ T W A W FQ
¥ fopa wwg w9

) 37 A A (03) WA & g Atk w1

5:28 a.m.

5:44 a.m.

4:56 a.m,

6:24 a.m.

21-6 4%
18-2 ¥
17-4 B
15-4 THT

faam o :

Th 1 ABCD & et T B CEF &fen mar 2 @ U

77. tana+tanp foheh suat 2

13

(a) ]__'6-

15

b
(b) T

16

B A & el & femn w2 1 e e 2 4

CF =8cm, EF = 6 ¢cm 3 CE = 10 em.

78. B9 CDE# dwat w2 9

A E D (a) £16 it ¢
B 17
(b) % T em
13
F (c) 2—08- Tl cm
17
(d) Eﬁ T em
13
B C
SRSU-T-EMT (24-A)
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74.

75.

At what time will the two trains meet ?

(a) 5:28 a.m.

(b) 544 am.

() 4:56 a.m.

(d) 6:24am.

If the lengths of the two trains A and B are

400 m and 500 m respectively, then what is
the time taken by them to cross each other ?

(a) 21:6 seconds
(b) 182 seconds
(¢) 174 seconds

(d) 154 seconds

Consider the following for the next three (03) items
that follow :

A triangle CEF is drawn inside a square ABCD as

shown in the figure given below. Given : CF = 8 cm,
EF =6 cm and CE = 10 cm.

SRSU-T-EMT

A E D

B C

76.

7.

78.

(25-A)

What is the area of the square ?

(a) % uare cm
17
625

{(b) —— squarecm
13 4

(c) @—squarecm
17

(d) —ligﬁ square cm

Whatis tano+tanp equal to?

13
(a) —
16
15
16

17

(c) E

17
(d) T

What is the area of triangle CDE ?

416

(a) 1 square cm
(b) % square cm
(/) —— squarecm
(d) % square cm
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ﬂm;;gﬁzr##mz)ﬂm#%%qﬁn%awmaﬂ#m#mwymﬁ'%%qﬁwﬁaﬁaw

ABCD @& 94 8 fyme %2 0 2 ok oc # =5 ot ' '
| T Q) wiR YErEE PQ = 5 om =3cem
W, T g9 @i W™ g, e AR G agh | @ﬁ@Tﬂﬁﬁ,%%ﬁﬁ;ﬁ%ﬁ

ﬁ@TﬂTTI'ﬂT'a IWEﬂﬁI‘E{OB:?cm.

(n:%?-ﬁﬁm}

79. TERRYA 8 FT SHE T 2

(a) 38591 cm
(b) 48Tt em
(¢) 52591 cm
(d) 66:53 em
80.
gI%el A a0 R 2
(a) E
25
® 8
25
(c) 17
25
16
d =
(d) T
SRSU-T-EMT

faamr g .

4§ fegrn mn 2 | PS 3l QR 1 itrede, fig M2 ai

D

MN@¥ & QST |
P
R
M
A Q N s g

81. MN &I Tard 791 2 2

82. WIY9 PQNM % &%d 1 @qH¥ RSNM ¥

BN 83 & 89%d 1 IBERMYT &7 % AT @ s 3 0

200

(a) T

212
117

215
117

(b)

250
117

(26-A)
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Consider the following for the next fwo (02) items | Consider the following for the next two (02) items
that follow :
that follow :

. . . . Let two parallel line segments PQ = 5 e¢m and
A.BCD is a cn:cle leth centre O and tal'ung OCasa RS = 3 cm be perpendicular to a horizontal line AB,
diameter, a circle is drawn as shownzén the figure as shown in the figure given below. The point of
given below. Let OB =7 ¢cm. (Use n = ~;7—) intersection of PS and QR is M and MN is

perpendicular to QS. https://'www.pyqonline.com
B
P
R
M
A Q N S B
81. What is the length of MN ?
3
(a) — cm
D 8
79. What is the area of the shaded region ? (b) % cm
(a) 38-5square cm
9
(¢ =cm
(b) 48 square cm 8
15
(c) 525 square cm (d) )
(d) 665 square cm
82. What is the ratio of the area of the
80. What is the ratio of the area of the shaded quadrilateral PQNM to the area of the
region to the area of the non-shaded region ? quadrilateral RSNM ?
19 200
(a) Eg (a) 117
18 212
= by ===
® o LT
17 275
16 250
— d —_—
(d) % (d) 117
SRSU-T-EMT (27-A)
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3 31 I @7 (03) FI ¥ Fre fefies w
z%aw#%q.-

F=fafga gare.1 fafim wwda owai @ fogft & vam
HW a1 AT H i & (P, Q 3k R A e 3
AN S 1 Tl 1 WY AE &) SN JAnE-1l e
T4 % o 7 v we o @it & fafim g ail

A B CaRDH @ 2 |
B
15%
A
50% ﬁ
D
20%
I

I

I

83. I & Mm99 A A s 71 wem R, I
are A 15% € 3 AR e 24,000 2, @
ST F A1 TN H P wed § g @i B
& Tewl 1 g Rt 2 0

12 9@

1:25 TG

1-30 G

1-50 SIT@

(a)
(b)
(c)
(d)

84. fafim @l P, Q, R 3k s @ o a wnii
HEA1 o d wrftreran i e 2 0

1-6 ¥T@

1-8 @

24 AT

26 TG

(a)
(b)
(c)
(d)

SRSU-T-EMT

Y Tt AT RE 3F 9
# M A At e
27
(a)
(b)

R ag T DH Q
% ¥ fham afm

6,000
8,000
(¢) 12,000
(d) 18,000

AR A § (02) yer ¥ fw Aefier w
faam #ifw

&l wdum Al ABCD 3i BEDF, 31 £ 919 & 8
apfa 4 femrn v 2, W faen $fm | @ it
AB=1cm 3N BC =2 cm.

D C

A B
86. 3rfdeardt (sfawetfin) & w1 e 7w 2 2
(a)

(b)

(c)

87.

(28-A)
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Consider the following for the next three (03) items
that follow :

The following Pie-Chart-I shows the people
migrating to Delhi from different Indian States
(P, Q and R are three different States and S is the
combined group of other States) and Pie-Chart-II
indicates the different age groups A, B, C and D of
these migrating people for each State.

B
15%
A
50%
D
20%
I II

83. If the people coming from a particular State
belonging to S are 15% and 24,000 in number,
then what i1s the total number of migrating

people belonging to the age group B 7

(a) 12lac

(by 1-25lac

(¢) 1-30lac

(d) 1-50lac

84, What is the maximum of differences between
the number of people coming from different

groups P,Q,Rand S ?

(a) 16lac
(b) 18lac
() 24lac
(d) 26lac
SRSU-T-EMT

What is the difference between number of
people coming from R having age group A and
those coming from Q having age group D ?

(a) 6,000
(b) 8,000
(e) 12,000
(d) 18,000

Consider the following for the next two (02) items
that follow :

Consider two identical rectangles ABCD and BEDF
as shown in the figure given below. Let AB = 1 cm
and BC =2 ¢m.

D C
Mhe
F
E
A B
86. What is the area of the overlapping region ?
8
(a) & Square cm
]
(b) n square cm
4
{c) 3 square cm
3

(d)

1 square cm

87. What is the area of the non-overlapping

region ?

(a) — squarecm

(b) == square cm

[~] Lol -
Ll

(c)

o]

(d)

(29-A)
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mﬁm#m#ah(wywbﬁ%%qﬁnﬁﬁawmmw#(wm#%qﬁnﬂﬁaw
faem #if ; e #ifse
mc@mﬁw%mﬁéwc’l:goo%Iﬁqamaﬁqﬂm@ﬁ“wwsﬁm
Wﬁﬂﬂ%m@mﬁﬁgmg@;m@ﬁm 10 cm SETE AN ARG & Hta § Sar f5 M9 &l
2om ¥ | 9 %7 79 B 33 0, M 0, &, g7 g | NEN A REA TR |
H A el B w w § S AR | (n=314 3R 2 = 14 +ffw)
fd § femn mar 2 | D 0 C
30 faftes, MA:MC=2:3.
P
E F
Q
g |
A B
88, AB + BC forud qus 2 7
(8 10cm 91. & EOF % &awa 71 8 2
(b 12em | (@) 12543 9 em
(¢) 13cm
89. 36 W emwn R ¥z 0, W2 © 1257 em
@ 4-5 (d) 6253 cm
b 1+45 92. wweE (dfifsrm) AEFB &1 85%a 71 & 2
0 2++5 (a) 303 cm
@ 3-5 (b) 2591 cm
(¢ 20 em
9. WA A fmm Fg o, md e @ 18757 em
@ 5-410 93. BERRHT &3 P e 71 £ 2
(b) 1+25
(a) 14759 ¢m
22 - 4410
(c) 5 (b) 14-2591 e¢m
@ 22-2J10 (¢ 722597 em
9 (d) 7-62591 cm
SRSU-T-EMT (30-A)
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Consider the following for the next three (03) items | Consider the following for the next three (03) items
that follow : that follow :

ABC is a right-angled triangle with £ ABC = 90°.
The centre of the incircle of the given triangle is at Consider two identical semicircles and one circle
0, whose radius is 2 cm. Two more circles with |inscribed in a rectangle of length 10 cm as shown

centres at O; and O,, touch this circle and the two | I the figure given below.

sides as shown in the figure given below. (Take n =314 and 2 =14).
Further, MA: MC=2:3. D 0 C
P
E F
Q

B
88. Whatis AB + BC equal to ?

(a) 10cm A B

(b) 12cm

91. What is the area of triangle EOF ?
(c) 13cm B
1 .
@ 1dcm (a) 2-54/3 square cm

(b) 62543 square cm
89, What is the radius of the circle with centre at

0,7 (¢) 12-5 square cm
(a) 4-45 (d) 6-25 square cm
® 1+45 92. What is the area of trapezium AEFB ?
@ 2+\5 (a) 30squarecm
@ 3-5
(b) 25 square cm
90. What is the radius of the circle with centre at (¢) 20 square cm
0,7
2 (d) 1875 square cm
@ 5-410
93. What is the area of the shaded region ?
b 1+25
(a) 14-75 square em
22 - 4410
(c) 9 (b)  14-25 square cm
@ 29— 210 (¢c) T225 square cm
9 (d) 7625 square cm
SRSU-T-EMT (31-A)
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Pt R @I F(02) ¥ # o Refafa w| e s @1d 7 08) v ¥ fow el w
ﬁWEﬁﬁl’,’: z%arraﬁ?ﬁcr

T 70 ot e on o g & ol OF TR [ o e B ge @ 9w fEs 3 0, 3k 0,
P ABC wt foram e, S 6 13 & SR |3 g oy 3 8 o Yoot T @ w5 ska &

g
e a1 % AR § 18 onepfa ¥ e mar #
A D c
0,
Affﬂ’rr i)
B C
0,
84. e ABC it o & T a1 R 2 A P B
@ 273 ¥ 96. AT el % Al @ et 7 R 2
(b) 443 THTE (@) 17n T 08
(¢ 643 31 (b) 16-75r a7 THTE
d 843 T (¢) 16-5n 7 FHTE

(d) 1625 THE
95. DRNG & 1 &A% 1 8 ?

(a) 6(n+ 3) ot gors
(b) 3(z+23) T T
(¢) 15(3n+8+3) T 518
@ 6(n+2y3)af Frd

97. SV oF H A Reffga i a snaad 2 2
(a) 0<B<30°
(b) 30°<0<45°

(e) 45°<@<60°

(d) 60°<06<90°
SRSU-T-EMT (32-A)
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Consider the following for the next two (02) items|Consider the following for the next three (03) items

that follow :

that follow :

Consider a circle of area 9n square unit and an|Two circles with centres at 0, and O, touching each

equilateral triangle ABC as shown in the figure other are placed inside a rectangle of sides 9 cm and

given below.

_f

94, What is the length of the side of the triangle

ABC?

(a) 23 unit
b 443 unit
(¢} 643 unit

(d 843 unit

95. What is the area of the shaded region ?
(a) 6(n+ V3 )square unit
(b) 3(n +2+3 ) square unit
(© 1-5(3n + 843 ) square unit

(d  6(n +2+/3) square unit

8 cm as shown in the figure given below.

D C

0y

A P B
96. What is the sum of the areas of the two

circles ?

(a) 17n square unit

(b)  16-75n square unit

(¢) 16'5m square unit

(d) 16'25x square unit

97. Which one of the following is correct in respect
of angle 6 ?

(a) 0<06<30°
(by 30° <8 <45b°

(c) 45°<B<60°

(d) 60°<8<90°

SRSU-T-EMT (33-A)
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98, BERNT &F F 3% F 2 9 .99. SRR &9 % R F JONNNE &7 F

BTEA Y TG T 2
(@) 240-10n-70 e -
24
(a) 2:7
(b) 240-6n-70 ﬂﬁﬁfg
24
© 120-12n-n0 ﬁw@ b)) 2:5
24
240-12n-70
@ T e © 35
(d 5:8
3mt JR at q (02 vE & R Aefia w
faer #ifaw :
7 Y ABCD T 6 om fiean amet 99 w1 = 3 |

AB, BC 3 CD ¥ w41 stst § | AB 3ft BD ® 100. SRR &7 % (a9 = 2
=W A oaw R W § e AR A

Arpfa #§ fomn m @)
(a) 24ncm
(b) 18ncm
A B ¢ D
(c) 15mcm
(d) 12nem
SRSU-T-EMT (34-A)
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98. What is the area of the shaded region ? 99. What is the ratio of the area of the shaded

region to that of the non-shaded region ?
240-10n-n B

(a) 94 square unit
—6n— 2:7
(b) 240-6n-n8 square unit @
24
(c) 120-12n -8 square unit (by 2:5
24
240-12n-n 8O .
(d) g square unit © 3:5
Consider the following for the next two (02) items d 5:8

that follow :

Let ABCD be the diameter of a circle of radius 6 cm.
The lengths AB, BC and CD are equal. Semi-circles
are drawn with AB and BD as diameters as shown

100. What is the perimeter of the shaded region ?
in the figure given below.

(a) 24ncm
(b) 18nem
A B ¢ D
(¢) 15nem
(d) 12rcm
SRSU-T-EMT (35-A)
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THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
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on the Answer Sheet. In case you feel that there is more than one correct response, mark the
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you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
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THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a wrong answer

hasal:;een given by the candidate, one-third of the marks assigned to that question will be deducted as
penalty.
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(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
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